BET7AV—7 v/\— @ Asada
BEIVAV—7 v/N\—BiEHE XYRyvHI X« ®T—4E8

UE30/33C
#37/40C

umww:;ﬂ\@ e
ZUE4DCY - z

EHH 2024/10/18



BEIDANXY—T v/ \—
BEDA v—7yv/\—#iELE

@ Asada
XYRyvHI X« E—4%

Ref.No. | =3— FNo. L TEA B# &%
#A UE3128 4 992440 (No.9, No.71) 1 UE30
#A UE3062 4 992540 (No.9, No.71) 1 UE33C
#A UE4011 4 992540 (No.9, No.71) 1 UE37 - 40C - 40CW
AERDEERT .
UE3121 ¥ ¥& 99250 -+ UE3123 # ¥4 992+
SS0512 BENIVMY7yN -R ALY V+UE3126 5
4 UES013 | ¥ #hN 48 (No5) | PO LEOBETIER,
F1=1%.
UE3129 # ¥ yia#l Tk, (UE30)
UE3109 # ¥ v/2# T3 #2, (UE33C - 37 -40C -
40CW)
UE30 Y1) 7IN0.22106 ~
UE33C Y1) 7WN0.22016 ~
#8 UE3122 £ 00 48 (No5) 1 UE37 Y1) 7WN0.23001 ~
UE40C Y1 7IN0.23001 ~
UE40CW  Y)7IN0.22151~
#H UE3083 59+ 3m (No.9) 1 UE30 - 33C
#8 UE4012 E-4tyb 4m (No.9) 1 UE37 - 40C - 40CW
#8 UE3129 4R 9988 (No.71) 1 UE30
#8 UE3109 4R 9988 (No.71) 1 UE33C - 37 - 40C - 40CW
2 UE3117 74¥0-7" 1k &H#E 1 #
3 UE3063 HEERELN - 1
4 UE3104 EIVA{yFHE 1
6 UE3014 h39F% ¥4 1
7 UE3084 FIF174R 1
10-1 UE3119 -8 V77 vy 7" 4R 1
1 UE3066 MR WIvh 1
11-1 UE3120 -+ VRIF 2 @4 1
12 UE3005 FENN 1 UE30 - 33C - 37 - 40C
UE4066 FENN 1 UE40CW
13 UE3118 ETURELN -FF Wb 1
14 82855 +h5R8yE A L 4 X 10L Ay 1 8 3
15 UE3067 94U - 1
17 UE3068 RAEEN -4 1
18 82196 $A i M5 x 15L Ay 6
19 81125 N REES M5 6
AERDIEERT ..
UE3121 ¥ ¥& 942hn° -+ UE3123 # ¥4 992+
SS0512 TJENVMYTyN -BRAFEIEV-I+UE3126 5
e . P+ - 0D ) & T AR
UE3070 4% 9hxh0 1 S0
UE3129 # ¥f v/a# Tx e, (UE30)
20 UE3109 # 4 v/a# T3#2, (UE33C - 37 -40C -
40CW)
UE30 Y 7WNo.22106 ~
UE33C Y 7WN0.22016 ~
UE3121 9 9hran - 1 UE37 Y 7WNo.23001 ~
UE40C Y 7WNo.23001 ~
UE40CW  YY7MNo.22151~
21 84409 N TYVY 62672 3
22.23 UE3071 E—5ht 4 1
24 84168 A 7Yy 4
25 UE3073 g= 1
26 UE3074 | g=8ht ¥ 1

EHH 2024/10/18



BEIDANXY—T v/ \—
BEDA v—7yv/\—#iELE

@ Asada
XYRyvHI X« E—4%

Ref. No. a— FNo. EHms B# e
26-1 84515 C &1k sHi H-19 1
26-2 84514 C B! 1E ¥ S-6 1
26-3 UE3124 N yhyuy 1
27 UE3075 B 1
28 UE3076 e 1
34 84516 C &1t sHig H-32 2
34-1 UE3017 ANTYVH AN - 1
35 UE46306 | A" 7U0)° 2
35-1 UE44508 0y 2
UE3081 Sy hEh 1
UE30 Y 7WNo.22106 ~
36 UE33C Y 7WNo.22016 ~
UE3126 £ bR RIN 1 UE37 Y1 7WNo.23001 ~
UE40C Y1 7WNo.23001 ~
UE40CW  YY7WN0.22151~
AERDIEERT 4.
UE3121 ¥ %% 99240 -+ UE3123 # ¥4 992+
SS0512 BENMYTyN -RAFELEY-V+UE3126 5
e U +-LEh 0D 0 & T ATHE
UE3082 R TV 1 vy
UE3129 # ¥f v/r#H Tx e, (UE30)
37 UE3109 # +i v/a# T3#t, (UE33C - 37 - 40C -
40CW)
UE30 Y 7WN0.22106 ~
UE33C Y 7WN0.22016 ~
UE3123 EA ALY 1 UE37 Y 7WNo.23001 ~
UE40C Y 7WNo.23001 ~
UE40CW  YY7WNo.22151~
39.1 UE43801 91-7" Tyve 1
41 UE40409 $A" /i L M5 x 60L 2
42.43 UE3106 =48ty b 1
43-1 UE3088 40 - 1
44 UE3089 -k v7 I 2
46 80650 FNATUTE Wb M5 x B5L Avk 3
46-1 80651 FNATUTE Wb M5 x 50L Ay 1
46-2 81125 N FEEE M5 3
46-3 81081 £ty M5 3
47 UE44638 y=han' - 1
48 84145 N 7YV 620327 2
48-1 UE44515 0y 2
49 UE3092 yi-h¥ ¥ 1
50 UE3093 - 43919 1
51 UE3033 9t-Lin - 1
51-1 UE44522 0y 1
52 UE3094 yi-hi YER 1
53 UE3095 - 43920 1
54 80652 FNATUTE VM8 x 121 fv¥ 1
55 UE3096 3 Aryb 1
56 UE3099 A7 vy 1
56-1 88571 AF-Ib -1 3/16 1
57 80358 FNATUTIESHI L M6 x 6L 1
58 UE3097 D4VFE 3h 1
59 88322 C &1k & S-16 1
62 UE3100 =7 VF1-7 1 +7-7" 17" yYa
63 UE3101 7 3¥r-7" ) 1 +7=7" V7" yYa
63-1 UE73644 =717 v 2

EHH 2024/10/18




BEIDANXY—T v/ \—
BEDA v—7yv/\—#iELE

@ Asada
XYRyvHI X« E—4%

Ref. No. a— FNo. EHms B# e
64 UE3103 YE3vr-7" b 3m 1 UE30 - 33C
UE4013 YE3vr-7 b 4m 1 UE37 - 40C - 40CW
67 80654 FNATUTE W M6 x 70 Ay 1 UE30 - 33C
80653 FNATUTE W M6 x 75 Ayt 1 UE37 - 40C - 40CW
68 UE42409 FRA TS ILE Wb M6 X 75 Ayt 1 UE30 - 33C
80653 FNATUTE W M6 x 75 Ayt 1 UE37 - 40C - 40CW
69 UE3041 FEmEH{REMN - 1
70 UE4071 W% P 1R EEN5- 1
71 UE3109 45 yhrsl 1
72 UE3127 REWN -Bfy7 1 UE3041 ZFEMEH{FEEMN -RAi7
- $30145 HIAEEIN ) UE 1
- $S0146 =EZEIN b UE 1
- $30148 -4Z454 ) UE 1
- $50149 TBEIYTyN - E-30 BREEZ= 1Y) 1 UE3013 E1=I1& UE3070 Y-l
UE30 Y 7WNo.22106 ~
UE33C Y1) 7N0.22016 ~
- $S0512 BRAELEIA W UE 1 UE37 Y1 7N0.23001 ~
UE40C Y1 7WNo.23001 ~
UE40CW  YY7WNo.22151~
- $50302 SEAZEIEIA /N UE 1
- $50539 B FARENT-I~ I UE 1
$S0734 MY EZEEIA )W UE 1
- $50143 % 31" W UE3O 1 UE30
- $50235 431" )W UE33C 1 UE33C
- $50239 451" W UE3T 1 UE37
- $50240 431" )V UE40C 1 UE40C
- $30530 &4 351" I UE40CW 1 UE40CW

EHH 2024/10/18



BEIOA N —T v/ \—
BEVA Vv—7 v/ \—2liELE

@ Asada
KR &R

Ref. No. a— FNo. e B EE
1 UE3003 THIRIR 1
2 UE3015 THIRAR AR 1
3 UE3016 EE4 L 1
4 UE3004 KRN - 1
5 UE51307 TVIRIREEN VF 1
- $S0144 RRZEEIN WUE 1
- IM0281 BuiRERERE 1 UE30 - 33C - 37 - 40C H
- IM0535 iRERBAE 1 UE40CW F
- PK0004 UE30/33C #Ra 5 1 UE30 - 33C A
- PK0005 UE37/40C ¥R a1 55 1 UE37 - 40C A
- PK0104 UE40CW tE & %5 1 UE40CW H

T H 2024/04/16



@ Asada
A {EER

Egjlj’f N—7 \y/{_
%EJU ’f 'v—7 \y/{_UE30

HHHE 2024/10/18




BET7AV—7 v/\—

BETA4 Y—7 v/\—UE30

@ Asada
A

Ref.No. | =3— FNo. e £ w%E
1 UE3019 P& 1
4 83089 A7 UVH v ¢ 6x36L 1
5 UE3021 F£—ab 1
6 UE3022 F—IWMELN % 1
- 80363 FNATUTIEHI L M6 x 16L 1

80358 FNATUTIEsHI L M6 x 6L 1 No.16001 ~
8 UE3023 B3N ELn" 4 4
9 UE40403 A I L 3.5X10 4
10 81026 NEATYINS 258 13
11 UE43603 TEES M8 5
12 UE3020 FNEF WA M8 x 121 5
13 UE3024 n4¥0-7° 1
14 UE3025 Bk 1
15 UE3026 JEER B 2
16 UE3027 BEMA 2
18 UE4017 A7y 932 EA 2
18-1 83105 AW E Y 2
19 UE3030 231V EEHE A 1
20 UE3031 A3{F BEEI V-t B 1
21 80375 AT IEHA L M8 x 251 4
22 80371 AT IEHA L M8 x 16L 4
23 80136 FNAR VM0 X 16L Av% 2
24 UE3032 271V EERE C 1
25 UE3032 231V ElxEHE C 1
26 UE3034 B=Ak 1
27 80087 FNAR W M8 x 351 Av¥ 2
28 UE3035 E=AMEES 1
29 UE3036 E=IANBEME 1
30 UE45022 | 3ARAT UUH° 1
31 UE3038 B IAMEES 1
32 UE3039 EIANBEM 2
33 UE43674 Ty¥y 1
34 UE3042 APy 1
34-1 UE4038 58" -3 1
35 UE3043 YUy B EER 1
36 UE3044 YYUE BEAN 4 1
37 UE3045 Yo EBEAN - 1
38 UE41505 FNAF W M12 % 6501 1
39 UE43315 +40uFy b M12 1
40 UE3046 fEEEF A+ 3
41 UE40905 FNAE Wb 1/4x5/8L 3
42 UE40902 FNAE Wb 1/4x3/8L 3
421 UE43711 mEtEES 1/4 9
42-2 UE40906 AR Wb 3
43 UE3047 Y)us° 1
44 UE42323 FNAUTILE Wb M6 X 10 3
45 UE3048 Y8 Yuy” 1
46 UE3049 AN =4 2
47 UE3050 Yy EEEEE 1
50 UE3052 Y4 EREREN - 1
51 UE41408 FNAF W M12 % 401 1
52 UE3053 FEIAMNEIE Y7 #A 1
54 UE3054 SN 1
55 UE42009 FNATUEE Uk Wb M6 x 251 16
55-1 81155 TES 25
56 UE43312 ATy N6 20
57 UE3055 BIEREY V) 1

EHH 2024/10/18




BET7AV—7 v/\—

BETA4 Y—7 v/\—UE30

@ Asada
A

Ref. No. a— FNo. EHms B e
58 UE3056 Ry 4
59 UE3057 i 4

59-1 UE3114 VN 1
60 83013 AUV E v dAx16L 4
61 UE40715 FRgyE" vda L 4 x 13L 8
62 UE3058 R -1 4
63 80414 FRATUTIEHF L M6 x 30L 4
64 UE3059 BIRIAL & 4y 4
65 UE3060 A4 B 4
66 UE3061 Fil4at A 4
67 UE3012 B34 Yoy EE4 LHA 1

67-4 UE3107 B4 U1k O#ihs 1
73 UE43616 TEESE 1/4 KB 1
75 UE40908 AT Wb 1

76,78 UE3078 VAR LFALEA" Wb 1
- UE4048 - A b 1
- $S0150 Asada 791" -3A" ) UE30 1
- $S0147 ERELy-) UE 1
- $50182 BAEHFEY-) UE30/37 1
- $50303 SLAZIETA WK UE 1

EHH 2024/10/18




@ Asada
A

BENDANY—T v/\—
BE874 Y—7 v/\—UE33

EHH 2024/10/18



BET7AV—7 v/\—

BE874 Y—7 v/\—UE33

@ Asada
A

Ref. No. a— KN EHms B e
1 UE3019 KEESS 1
2 UE3079 ERTY 74 1 UE3091 EErR L ZEED
3 UE3091 EEta L 1
4 83089 A7°YUH B Y 6 x 36L 1
5 UE3021 F—Iab 1
6 UE3022 E—WMELN % 1
. 80363 AT IR L M6 X 161 1

80358 ARATTIEDHI L M6 x 6L 1 No.16001 ~
8 UE3023 BRI RLA % 4
9 UE40403 | #7"/Ma L 3.5X10 4
10 81026 ATy M8 2 5E 13
1 UE43603 FRES M8 5
12 UE3020 7R Wb M8 x 121 5
13 UE3024 n4¥n-7° 1
14 UE3025 i)y} 1
15 UE3026 B 2
16 UE3027 BEA 2
18 UE4017 A7y §32 A 2
18-1 83105 AT WUE Y 2
19 UE3030 A4+ EE A A 1
20 UE3031 2340 EET L-+B 1
21 80375 AT L M8 x 251 4
22 80371 AT IESHI L M8 X 161 4
23 80136 AR Wb M10 x 16L Ay 2
24 UE3032 234+ EEHRE C 1
25 UE3032 A3} EIFEHE C 1
26 UE3034 E=7Ab 1
27 80087 FAK Wb M8 x 35 Ayk 2
28 UE3035 E=IAMNEESR 1
29 UE3036 E=MEEME 1
30 UE45022 | Y&RR7 YU 1
31 UE3038 & ANBES 1
32 UE3039 EIANBER 2
33 UE43674 Dyv4 1
34 UE3042 Y8 vy 1
34-1 UE4038 -8R 1
35 UE3043 Yu8° B EE 1
36 UE3044 Yvh SBEAN -4 1
37 UE3045 Yvg EBEIN - 1
38 UE41505 FNEAR Wb M12 x 651 1
39 UE43315 | #4ovtyb M12 1
40 UE3046 FEEEE A 3
41 UE40905 FNAE Wb 1/4x5/8L 3
42 UE40902 FEK Wb 1/4%3/8L 3
42-1 UE43711 HETEES 1/4 13
42-2 UE40906 A W 3
43 UE3047 Yy 1
44 UE42323 FNA T Wb M6 % 10 3
45 UE3048 Yy vy 1
46 UE3049 AN -4 2
47 UE3050 Yvh' B BEM 1
50 UE3052 Yv4' BEREBEN - 1
51 UE41408 A W 1
52 UE3053 FE= AMNEE Y7 #A 1
54 UE3054 I STANPYN 1
55 UE42009 AT U Wb M6 X 251 16
55-1 81155 FES 25

EHH 2024/10/18




BET7AV—7 v/\—

BE874 Y—7 v/\—UE33

@ Asada
A

Ref. No. a— FNo. EHms B e
56 UE43312 ATV b M6 20
57 UE3055 HIEE)Y) 1
58 UE3056 ilfvy7” 4
59 UE3057 i 4

59-1 UE3114 R b 1
60 83013 A7 YU E v 4 x16L 4
61 UE40715 FRgvE" vda L 4 x 13L 4
62 UE3058 Bl - b 4
63 80414 N TUT R 13 L M6 x 30L 4
64 UE3059 BIATAE & 4y 4
65 UE3060 SZIN 4
67 UE3012 BIZI4 Vo) B4 LA 1

67-4 UE3107 B4 U1k O#ihs 1
68 UE3072 A54F BiEvRS 4
69 UE3077 FoARERATN 47 4
70 UE43506 BE{F & XMy MI0 4
71 UE40902 AR I 1/4X3/8L 4
72 UE3108 Y8 $428 (77 L-$4) 1
73 UE43616 FRES 1/4 KB 1
74 UE3065 ARG ER A B 1
75 UE40908 FEF W 1

76,78 UE3078 YAMRH LFHLEA" Wb 1
77 UE3069 FRGER{TRA" -4 1
79 UE43682 FEES 3/8 4

- UE4048 - A b 1

- $50238 Asada 7y -3" ) UE33C 1

- $S0147 ERZE LA ) UE 1

- $50242 50" ), UE33/400 1

- $50303 STAZIEIA WK UE 1

EHH 2024/10/18



BRI A —T v/i—

@ Asada
Z

BHT7 1 Vv—7 v/\—UE37

02

+62

BT 2024/10/18




BEIDANXY—T v/ \—
BET A4 Y—7 v/\—UE37

@ Asada
A

Ref. No. a— FNo. EHms B e
3 UE3019 IK# 28 1
4 83089 A7 UUDE v 6 x36L 1
5 UE3021 £—ab 1
6 UE4015 E—WMELN % 1
7 80358 ANATUTIEHI L M6 x 6L 1
8 81026 NFETy M8 25 24
9 UE43603 FEES NS 8
10 UE3020 FNEF WA M8 x 121 8
1 80375 N TUT 13 L N8 x 251 4
12 UE4016 A3 EIET V-t A 1
13 80371 AN TUT 12 L N8 X 161 8
14 UE4041 274 ExE7 -+ B 1
15 83105 AU E Y 2
16 UE4017 $R7yvr ¢ 32 A 2
18 UE3027 JEER 2
19 UE3026 B 2
20 UE3025 B I 1
21 UE43674 TyYx )
22 UE3039 EIAMNBERE 3
23 UE3038 EAMBEH 1
24 UE45022 AR Y 1
25 80087 FEE Wb M8 x 35L Ay 2
26 UE4021 A4 BExEI -+ C 1
27 UE4022 A3 EIE7 V- D 1
28 80136 AT VM0 X 16L Ay$ 2
29 UE4023 £ 1
30 UE3036 E=vAMBEM 1
31 UE3035 E=IANBES 1
33 UE4024 A34h EEY b-+E 1
34 UE4025 B=M - - 1

34-1 81293 +40vFy b M8 5
35 UE4026 FmAb L7 -8 2
36 UE43677 TES 3
37 80641 FNATUTE W M8 % 30L Av¥ 2
38 81291 vty M5 1
39 80642 FNATUEE W M5 x 30L Ay% 1
40 UE4027 EIUIAL -4l 3
41 UE4028 ErgvAbRT -1 1
42 UE4029 A4 BExEI Vb-bF 1
43 UE4030 BT 1
44 UE4031 EEANF7 -8 2
45 UE4032 EmALNFT -EE? Frvb 1

45-1 80643 FNATUTE W M5 x 251 Ay% 2

45-2 81291 +40uty b M5 2

45-3 80623 FNATUEE Wb M6 X 151 Ay¥ 2
46 80135 FNATUEE Wb M8 X 30L Av¥ 2
47 UE4042 YAMESDT L-F 1
48 80124 FNATUEE M6 X 16L Av% 1
49 81016 ETyh M6 1
50 UE4034 A4 BEEI V-+G 1
51 80373 ANATUTEHI L M8 x 201 4
52 UE43312 ATy M6 22
53 UE4035 7 youh 2
54 80082 A Wh M8 X 20L Ay 2
55 82854 AT IE Wk M8 x 30L Av¥ 1
56 UE4036 YYYE 7 = - 1
57 UE4037 4m Yy 1

EHH 2024/10/18




BEIDANXY—T v/ \— @ Asada
BETU 414 Y—7 v/\—UE37 A&

Ref. No. a— FNo. EHms B e
57-1 UE4038 Sy AN 1
58 UE3049 AN -4 1
59 UE4033 n4¥0-7° 1
60-62 UE3050 Yy B EEA 1
63 UE43638 TES 1
63-1 80137 AR Wb M2 x 30L A% 1
63-2 UE4044 YUy 7 - - 1
64 UE4045 4% - 1
64-1 80070 AR Wb M6 x 30L Avk 1
64-2 81155 FRES M6 3
65 80653 AR Wb M60 x T5L Av% 1
66 80644 FETATE Wb M6 X 6L Av¥ 1
67 UE40904 AT Wb 1
68,69-2 UE3078 VAR LFALEA" Wb 1
69 UE43616 FEEES 1/4 KB 1
69-1 UE40908 AR W 1
70,71 UE4043 &7 b} 1
72,73 UE4046 S | 1
72-1 80124 AR I 1
74 UE42009 AT 4UE Wb M6 X 251 16
74-1 UE4040 B340 Vo) EE4 LA 1
75 81155 FEES M6 25
76 UE3056 B4y 7 4
77 UE3057 i 4
78 UE3114 MR b 1
79 83013 A7 YU E v x16L 4
80 UE3023 BRI RLA % 4
81 UE40403 $A" v L 3.5X10 4
82 UE3059 VSN Y, 4
83 80414 RETUTIEDHF L M6 x 30L 4
84 UE3058 R - b 4
85 UE40715 pFRvE" vda L 4 x 13L 8
86 UE3060 2344 B 4
87 UE3061 AL 4

- UE4048 -0 AR

- 550236 Asada 7y -37° ) UE3T7

- 550147 EMEEIA ) UE

- 550182 ARG EIA W UE30/37

—_— === =

- $S0303 SIAZEIETA WK UE

EHH 2024/10/18




@ Asada
A

BE8D 4 vY—7 v/\—UE40C

BET7AV—7 v/\—

7

ir

EHH 2024/10/18



BEIDANXY—T v/ \—
BE8D 4 vY—7 v/\—UE40C

@ Asada
A

Ref. No. a— FNo. EHms B e
1 UE3079 ERTY 74 1 UE3091 EER L EET
2 UE3091 ElEt L 1
3 UE3019 KA 1
4 83089 A7 YU E Y6 x36L 1
5 UE3021 F—Iab 1
6 UE4015 F—IWMELN % 1
7 80358 NATUTEHI L M6 x 6L 1
8 81026 NEATYINS 258 24
9 UE43603 TEES M8 8
10 UE3020 FNEF WA M8 x 121 8
11 80375 ANATUTIEHI L M8 x 251 4
12 UE4016 A4 BEET L=+ A 1
13 80371 FNATUTIESHI L M8 x 16L 8
14 UE4041 274 ExE7 -+ B 1
15 83105 AU Y 2
16 UE4017 A7y 932 EA 2
18 UE3027 BEA 2
19 UE3026 SEEE 2
20 UE3025 %A 1
21 UE43674 TyYx 5
22 UE3039 FAMNEEM 3
23 UE3038 FIANBES 1
24 UE45022 YARRT VY 1
25 80087 FNAR W M8 x 351 Av¥ 2
26 UE4021 A3 BEEI V-+C 1
27 UE4022 A3{F BEEI V-+D 1
28 80136 FNEE VM0 x 16L Ay$ 2
29 UE4023 £ =3Ab 1
30 UE3036 E=IAMBEME 1
31 UE3035 E=IANBES 1
33 UE4024 A4 BExEI V-+E 1
34 UE4025 E=M Ui - 1

34-1 81293 F40uty b M8 5
35 UE4026 FmAb L7 -8 2
36 UE43677 TES 3
37 80641 FNATEE Wb M8 X 30L Av¥ 2
38 81291 H0yty b M5 1
39 80642 FATUTE W M5 x 30L Av¥ 1
40 UE4027 FEmeAly -48 3
41 UE4028 FEIEIANRT -5 1
42 UE4029 AN BEEI V-+F 1
43 UE4030 FEmAb 1
44 UE4031 FEIOIANTT -5 2
45 UE4032 FEMOIANFT -YEET Ty b 1

45-1 80643 FNATUEE Wb M5 X 251 Av¥ 2

45-2 81291 H40yty b M5 2

45-3 80623 FNEATUEE W M6 X 151 Av¥ 2
46 80135 FNATUTE W M8 x 30L #v¥ 2
47 UE4042 AMESHT L-F 1
48 80124 FNATUTE W M6 x 16L fo¥ 1
49 81016 7 fAtyh M6 1
50 UE4034 AN EET V-t G 1
51 80373 FNATUTIESHI L M8 x 20L 4
52 UE43312 AUy b N6 22
53 UE4035 7 9o 2
54 80082 FNAR W M8 x 201 Av¥ 2
55 82854 ANE T IE Wb M8 X 30L Ay 1

EHH 2024/10/18




BEIDANXY—T v/ \— @ Asada
BET 1 v—7 v/\—UE40C A&

Ref. No. a— FNo. EHms B e
56 UE4036 YYu8° 7 =Yhn - 1
57 UE4037 4 YYuy° 1

57-1 UE4038 48" -2 1
58 UE3049 AN -4 1
59 UE4033 n4¥0-7° 1

60-62 UE3050 Yy B EEA 1
63 UE43638 FES 1

63-1 80137 AR Wb M12 x 30L Ay 1

63-2 UE4044 YYu8° 7 =Yan - 1
64 UE4045 D4¥hn - 1

64-1 80070 F<AE Wb M6 x 0L Ay 1

64-2 81155 FRES M6 3
65 80653 AR Wb M6 x 750 Avk 1
66 80644 AT Wb M6 x 6L Av¥ 1
67 UE40908 AT I 2

68,69-1 UE3078 YAMRH LBALEA" b 1
69 UE43616 FES1/4 KB 1
70 UE3069 FASER{T AN -4 1
71 UE3065 $rAYER A BE 1

71-1 UE3108 YUUE £428 (77 L-$4) 1

71-2 UE43711 wEftEES 1/4 4

71-3 UE40902 | J<fa% Wb 1/4X3/8L 4

72,73 UE4046 SUNPVE | 1

72-1 80124 AAK b 1
74 UE42009 | A TRATH 4uk Ib M6 x 2501 17

74-1 UE4040 BIAI4E Vo) EEd L 1
75 81155 FRES N6 25
76 UE3056 filtry7” 4
77 UE3057 ] 4
78 UE3114 N W 1
79 83013 A7 YUHE Y4 x16L 4
80 UE3023 B3N RLA % 4
81 UE40403 | $A"/Ma L 3.5X10 4
82 UE3059 BIRIAL & 4y 4
83 80414 FRATTEHI L M6 x 30L 4
84 UE3058 B -1 4
85 UE40715 FASYE A L 4x 131 4
86 UE3060 JSUIN | 4
87 UE43506 | EE{F = ATy MIO 4
88 UE3077 FAYERAEN 47 4
89 UE43682 FRES 3/8 4
90 UE3072 A54F BEEvRS 4

- UE4048 I-F AT 1
- $50237 Asada 7yn" —3A" J UE40C 1
- $50147 ARSI ) UE 1
- $50242 451" ), UE33/40C 1
- $50303 STAZEIEIA LK UE 1

EHH 2024/10/18



